Contracture Platform Footrest

Frame shown
" reference only




Contracture Platform Footrest

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1127694-NLA | NLA - Kit, Contracture Platform Hardware 1 1
2 Locknut (1/4-28) 1 2
3 NLA - Screw, Hex Head (5/16-24 x 3") 1 1
4 Screw, Socket Button Head (1/4-28 x 1-1/2") 1 2
5 Bolt, Lug (5/16-24 x 1-3/8") 1 2
6 Locknut (5/16-24) 1 3
7 Locknut (1/4-20) 1 2
8 NLA - Screw, Hex Head (1/4-20 x 1-1/2") 1 2
9 1127831-NLA | NLA - Bracket, Contracture Support, Black 1 1
10 1052436-NLA | NLA - Support, Contracture Platform, Black, Long 1 1
11 1052441 Tube, Support, Lower, 110 Degree, Black, Long 1 1
12 B 1127695 Kit, Contracture Footboard Hardware 1 1
13 Screw, Socket Flat Head (1/4-20 x 3/4") 1 4
14 NLA - Half Clamp, Threaded 1 2
15 Screw, Socket Button Head (1/4-20 x 1) 1 8
16 NLA - Half Clamp, Non-Threaded 1 2
17 Plug Button, Black (3/4") 1 2
18 1044076 Footboard 1 1

NOTE: A -Includes items 2-8
B - Includes items 13-17




